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TI(EERH): 200kVA, 380V/220V, Z=4%, X/R=2.47
T2(RB A% R 5): 30kVA, 220V/110~190V, Z=3%, X/R=1.73
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T1: 2000kVA, X11=8%, 22.8kV/460V

Cl: 800kvar, 540V -
Loadl: 1000kVA, cos @ =0.8, 460V
JfSXVI
c1

Loadl

BRERERBZ TR -RBIR2MRRAEEE A2 AEHE LG Rt Bt E
(=) EXRSACHEMESWDERAN » SEEES>TBEMONZ 2R ? [8 4]
(=) EFHEACHHAMEWVDIRAL  SEEEIREMONZZBH? [74)

A8 [10 4]

(—) X EA 220V - 2HP » cos6=0.75(3%%) ~ 1=0.77 2R E T B - 1A 2.0mm>PVC
BGAH(Z=10.14j0.119 Q/km) » BE 25 2R > B L BB EREL S V%7
[54]

(=) FERBERKERE > LA EHHES 220V ~ 2HP - cos0=0.8(% %) ~ 1=0.8 2
=Tk ERENEEBRIREL S 5% [549])

IXRE /¥ 3 H



